
1. d i 33127 C: 29987 O:>:Q:k0~~C: TGo 33127x + 29987y = d C: tJ. 
Gm~O:>;fill (x,y) i-*Jl.>1<&9.J:o [5 Ji\(] 

2. $ Z/59/Z t::: t:H:T G 33 = 33 + 59/Z O:>i!]I; i :>1<&9 J; o [5 Ji\(] 

3. M2 (JR) i JR J:: 2 ~O)~fr?U$C: G, S == { ( ~ -! ) I a,b E JR} C: 

TGo [5 Ji\( x 2] . 

(1) S ii M2 (JR) O:>gjl:fr!Ji!t:il!J.Q.::. C: iffii:to 
(2) S li{;is:L'il!JG .::_ C iffii:J:o ($-Z:il!JG.:: C liffi~ tJ. < L J; l,\o ) 

4. n EN t T Go Z/nZ O:>'J$.'$. 

(a+nZ)(b+nZ) = ab+nZ 

~~•tJ.<~•t:SG.:.C:iffi~~~ 

5. R im~c: Ga ER CTG 0 il!J.Q n EN t:::;tifl_,,-C an= 0 L'il!JGtJ. G 
Ii a = O t: il!i G .::. C: i ffii:t o [5 Jii(] 

6. R im~ C: G a, b E R C: T Go aR = bRt:il!i G tJ. G Ii, il!i GiEJ'!Un u 
i.J!if;(:E G -C b = au C: tJ. G .::. C: i ffii:t o t:: t:: G aR = { ar I r E R} L' il!i 
Go' [5 Ji\\] · 

7. R il'IJH/!$C: GI i R 0:>1"r7JvtTGo 

VI= {a ER I il!JG n EN l:::MG-C an EI} 

C: <IS< C:, VI Ii R 0:>177 Jvt:il!JG.::. C: iffii:to [5 J.\\] 

8. R i l'i,TH/!$C: G a ER C: T Go ~~ f : R-+ R i f(x) =ax -c~t\9 
Go .::. 0) C: S 1-1(0) Ii R0:>1 'T7Jvc·il!J.Q.::. C: iffii:to [5 Ji\(] 

9. $ Z/12/Z 0:>1 'f7 JviT"'--CiH:To (~0:>"1-t:d:v'o ) [5 ii\\] 

10. K if*C: !_,, 0 =J f(x) E K[x] t:il!i-:i-C, {=fJ&'.O) a E K t:::J;f"G-C 
f(a) = o C: tJ. G J;? tJ.fJ!Ji--::i:~Hto (~0:>"1.c·t>tntitJ.v'i.J', f* K 
C: f(x) i a)Jffi"t G.::. C:o ) [5 Jii(] 

11. ~*O)~i.J>''b ~? /: 4 -::>L'il!JG{.$:0)1JQ'$.~C:'J$.¥!~i\\li'IJ"o [5 Ji\(] 

[5 Ji\\ x 12 = 60 F.\\1/.ldii\\] 


